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gFjp i   
 

 

1. 25 l Njq;fha; vz;nzapd; 
1

5
 ,y; vj;jid l Njq;fha; vz;nza;     

  cs;sJ?  

 

 

2. ngWkhdk; fhz;f. 6.042 + 1.42 

 
 
3. RUf;Ff. 9𝑦 + 7𝑦 

 

 
4. jPHf;Ff. 6𝑥 = 24   

 
 

5. √484  ,d; ngWkhdj;ij vOJf?  

 
 
6. y ,d; ngWkhdk; ahJ? 
 
 
 
 
 

7. 1 kzpj;jpahyj;jpy; 
7

10
 vj;jid epkplk;? 

 
 
 

8. √
1

64
−

1

100
 ,d; ngWkhdk; ahJ? 

 
 
9. 4 ∶ 6 = 6 ∶      ntw;Wf; $l;by; tuNtz;ba vz;iz vOJf? 
 
10. 2.25 l I ml ,y; jUf? 
 
 

gFjp 1  

gFjp 11  

nkj;jk;  

 

A 

B C 

y 
47° 

 

63° 

 

D 

 

Kjyhk; jtizg;ghPl;ir 

 

juk; - 10                              Neuk; - 3kzpj;jpahyk; 



2 
 

11. 30𝑐𝑚, 20𝑐𝑚, 10𝑐𝑚 ePs> mfy> cauk; nfhz;l fdTUtbtg; ghj;jpuj;jpy; tplf;$ba  
   jputj;jpd; fdtsit l ,y; fhz;f? 

 

  12.                           mUfpYs;s Iq;Nfhdpapy; 𝑥  ,d; ngWkhdj;ij fhz;f. 
 
 
 

 

 

 

13. (𝑥 + 6)(𝑥 + 7) ,y; <UWg;Gf; Nfhitia jUf? 
 
 
 
14. cUtpYs;s juTfSf;F Vw;g x, y ,d; ngWkhdj;ijf; fhz;f? 
 
 
 
 
 
 
 

15.         ABC,   PQR y; AB=RQ, BC=PR vdpy; 
       ,t;tpU Kf;NfhzpAk; xUq;fpirAkh? 
       xUq;fpirAk; vdpy; vt; epge;jidapy; 
       xUq;fpirAk;? 

 

 

16. 30𝑥2𝑦, 20𝑥𝑦2, 40𝑥2𝑦2vdpd; ,t;TWg;Gf;fspd; ngh.k.rp ahJ? 

 

 

 

17. 14cm  MiuAila tl;lfk;gp (tisak;) xd;iw nra;aj; Njitahd fk;gpapd; ePsj;ij 
fhz;f? 

 

 

18. jug;gl;l juTfSf;F Vw;g ,t; nrq;Nfhz Kf;Nfhzp   ABC apd; gug;G ahJ? 

 

 

 

19. RUf;Ff 1 −
3

4
 

 

20. fhuzp fhz;f. 3𝑥2 − 3  

 

(20x2 = 40 Gs;sp) 

𝑥 

𝑥 

 

80° 

 

120° 

 

100° 

 

𝑥 

𝑦 

300 

100
0 

A 

B 

C 

P 

R 

B 
C 

10cm 

8cm 
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gFjp 11 

vy;yh tpdhf;fSf;Fk; tpiljUf 

01) je;ij xUtu; jd;dplkpue;j fhzpapd; 
1

4
 gq;fpid jdJ kfDf;Fk; vQ;rpajpy; 

2

9
 gq;fpid 

jdJ kfSf;Fk; nfhLj;jhu;. jw;NghJ mtuplk; ,Uf;Fk; fhzpapd; msT 35 Vf;fu; 
vdpy;> 

i. kfdf;F nfhLj;j gpd; vQ;rpAs;s fhzpapd; gpd;dk; ahJ? 
 
 
 

ii. kfSf;F nfhLj;j fhzpapd; msT nkhj;jj;jpy; vd;d gpd;dk;? 
 
 
 

iii. gps;isfs; ,UtUf;Fk; nfhLj;j gpd; vQ;rpAs;s fhzp nkhj;jj;jpy; vd;d 
gpd;dk;. 

 
 
iv. je;ij Kjypy; itj;jpUe;j fhzpapd; msT vj;jid Vf;fu;? 
 
 
 
 

(2+2+2+4=10 Gs;sp) 

02) 

 

 

 

 

 

 

cU 8.4cm gf;fKs;s rkgf;f Kf;Nfhzp MFk;. 
i. epow;wg;gl;l cUtpd; Rw;wsT ahJ? 
 
 
 
ii. epow;wg;gl;l cUtpd; gug;G ahJ? 

A 

C B 
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gpd;tUk; Miur;rpiwfspd; gug;gstfisf; fhz;f? 

Miu ikaf;Nfhzk; gug;G 
28cm 1080  
10.5cm 1200  
21cm 1440  

 

(2+2+2+2+2=10 Gs;sp) 

03) 

i. √90 ,d; 1 k; mz;zsthf;f ngWkhdj;ij fhz;f? 

 

ii. xU Nghl;b gupl;irf;F rpq;fsk;> jkpo;> Mq;fpyk; Mfpa nkhop %yq;fspy; 
Njhw;wpa guPl;rhj;jpfs; gw;wp ngw;w jutfis tiff;Fwpg;gjw;F jahupf;fg;gl;l xU 
tl;l tiug fPNo fhzg;gLfpwJ. 

 

   

 

 

 

 

 

(a) Mq;fpy nkhop %y gupl;rhj;jpfis tiff;Fwpf;Fk; Miur;rpiwf; Nfhzj;ij 
fhz;f. 

 

(b) rpq;fs nkhop %y gupl;rhj;jpdspd; vz;zpf;if 240 MFk;. gupl;irf;F Njhw;wpa 
gupl;rhj;jpfspd; nkhj;j vz;zpf;if ahJ? 

 

 

iii. 22>25>27>31>31>31>39>39>44>45>47 vd;dk; juT khjpupia fUJf. 

(a) ,ilak; ahJ? 

 

(b) Mfhuk; ahJ? 

 

(c) tPr;R ahJ? 

 

(3+2+2+1+1+1=10 Gs;sp) 

jkpo; 

2000 
rpq;fsk; 

1200 
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04) (a) RUf;Ff. 

 (
5

9
−  

1

3
 ) ÷ 2 

 

 

   (b) 
1

4
+ (2

1

3
 ×  

2

7
) 

 

(c) xU tpahghuk; xd;wpd; %yk; fpilj;j ,yhgj;jpy; 
2

5
 uh[hTf;Fk; mfdpf;Fk; 

fpilj;jJ. 

i. ahUf;F $ba ,yhgk; fpilj;J? 

 

 

ii. ,UtUf;Fk; fpilj;j ,yhgj;jpd; tpj;jpahrk; &gh 1100 vdpd; nkhj;j ,yhgk; 
vt;tsT? 

 

 

(2+4+4=10 Gs;sp) 

05) 

i. jPu;f;f 4(3𝑥 + 2) − 8 = 72 

 

 

ii. fhuzp fhz;f. 

a) 𝑥2 + 14𝑥 + 45 

 

b) 𝑥2 + 5𝑥 + 24 

 

iii. a – b = 3, ab = 40 vdpy; a2 + b2 ,d; ngWkhdj;ij fhz;f.  

 

iv.  

 

 

 

 

 

xU gf;f ePsk; 7a myFila rJu tbt jfl;by; ,Ue;J 2x gf;f ePsKs;s 
rJutbt jfL ntl;b mfw;wg;gl;lJ vdpd;> 

7a 

2x 

2x 
7a 
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i. epow;wpaTUtpd; gug;ig fhuzp mwpit gad;gLj;jp (7a – 2x) (7a + 2x) vdf; 
fhl;Lf. 

 

 

ii. a = 4cm, b = 3cm vdpy; epow;wpaTUtpd; gug;ig fhz;f. 
 

(2+4+2+1+1=10 Gs;sp) 

06)  

i. Kf;Nfhzp PQR ,y; �̂� + �̂� =  1000 > �̂� + �̂� =  1300 vdpd;> 

Kf;Nfhzpapd; Nfhzq;fs; xt;nthd;wpdJk; ngWkhdj;ij fhz;f? 

 

 

ii.  

 

 

 

 

cUtpy; AP       CQ ck;> AP = CQ vdpd;>  

a) ∆ 𝐴𝐵𝑃 ≡  ∆ 𝐵𝐶𝑄 xUq;fpirAk; vd epWTf?  

 

b) 𝐵𝑃 = 𝐵𝑄 vdf; fhl;Lf? 
 

iii.  

 

 

 

 

∆𝐴𝐵𝐶 apy; 𝐵�̂�𝐶 = 2𝑥 ck;> 𝐴�̂�𝐶 = 3𝑥 ck; MFk; 𝐵�̂�𝐶 apd; ,U$whf;fp BC [ D 
apy; re;jpf;fpwJ gf;fk; BC MdJ E tiu ePl;lgLfpwJ. 

i. 𝐴�̂�𝐶 [ 𝑥 rhu;ghf fhz;f. 

 

 

ii. 𝐴�̂�𝐸 [ 𝑥 rhu;ghf fhz;f. 

 

 

(2+2+2+2+2=10 Gs;sp) 

A 

B 

C 

Q 

p 

A 

C E 
B 

D 

3𝑥 

𝑥 𝑥 


